O SBICLERK 20230

we 11:00 AM »



SBICLERK 20230

Question 1- Walklngsa\ 6 kny/hr . Pintu reaches his schoo{! 10 minutes late. If he

walks at’8 km ﬁér hour he will be 10 minutes early. The distance of Pintu’s

from his house 1s

T 1- 6 Terwi/eieT <t i | kﬂcquz 10 ﬁ%éﬁﬁmﬁ%@ RN RICE R

foreft i et <l a1 2 Al 8 10 e weet g e g < o @ gl
¥ /\0 i
-1 p— LA 8 km
\H( B. 6 km
Ao 30 C. 4km
D. 9km

E. None of these
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Question 2- A man covers a total distanceicycle. For the first 2

hours, the speed wa$ 40 kmhr and for the rest of the journey, it came down to

20 km/hr. The average speed will be
Question 2- Teh s4feh HTgfehet © et 200 fereft skl ol a7 LT 81 T 2 ¥ict o foi,

i 40 TorHt / SieT off 3TR 19 I3 o foTu, I8 20 TRt / ST dh ohH &1 18| 37d T
T BIAT?
A. 15 km/hr

Aum% fpud= ok dithmcq —B_ 25 km/hr
M L o 30 C. 30 km/hr

D. 35 km/hr
E. None of these
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Question 3- On selling 40 article for Rs 360 there 1s a loss of 25%. Find the

selling price of 1 article if the seller wants to earn 25% profit.

T 3- 40 TE T 360 TTL W sI=H T 25% T BT Bicil &1 Afe Tefshdl 25% AT 3Sid
AT TS @ dl | S o1 forshd o JT 2hi 15|

ST

MS 15

B. Rs 12
30 C. Rs10
D. Rs 16
E. None of these
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Question 4- A person deposited Rs 2400 for 4 year at R% per annum simple
interest and he received Rs 1600 as simple interest. If he invest the sum

(R+2)% per annum simple interest then find total amount received by him
L A

after 6 years.
57 4- Teh Fh o 4 99 oh 7T R% YT I HTEROT SATST shl & | 2400 T SHT

TohT ST 3 |0 ST o &9 H 1600 &9 JT6 g Ffd I8 TRT (R +2)% Tid
Y | SATST H [+olRT LT &, 1 6 a1 o S8 38 UTH el TTRT [T ehiforal
/4):_ P‘[‘SI A. Rs 4376
30 B. Rs 3376
L Rs 5088
D. Rs 3576
https://t.me/mathbytarunsirmepl E. None of these
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(i) p>=32p+255=0
(i) ¢ -20q+9650  gragd?

O
(11)
(iii)
(V)
\

P

Hm ) Question 5-
X

0 > (
0 < O

0 >0
0 <Q

LT
11318y 19

= q or relation can’t
be established,
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= G’ l@é ) Question 6-

(i) p"—6p-135=0

(ii) q*> +2q+48=0
P>i€(:> q f\\
’ i) p>o

P<0LQ

(i) p<o

(ii)) p >c

(iv) p<q

_ (8- p=qorrelation can’t
be established,
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0, m > Question 7- %)

/P<@

i) p*—26p+1
(11) (g-18)(q-24)=0

7-18=0
g 0y
i)y p>q L Y=0

(iv) p<q L=y
(v) p=gorrelation can’t
be established,
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Home work question- A cat takes 5 leap for every 4 leap of dog but 3 leap of

dog equal to the 4 leap of cat. Find the ratio of speed of cat to that of dog.

T 16- T Toleet! el 3h1 Teish 4 BANT o [T 5 SANT TR & IR el o1 3
AN Toleet! 3hT 4 AN oh SIS BIdT ) TefeedT =T TMie I el 2T 7Ti 3hT LA e
SR

13:16
11:16
15:16
D. 14:15
E. None of these

QW >

30
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Question 8- What approximate value will come 1n place of

question mark.

T 8- T T<I& o T T SFALHTA A T AT

30.01% of 1799.99 + 55% of 5499.99 = ? @ of 7499.88
1799.99 T 30.01% + 5499.99 T 55% = ? + 7499.88 <hl 19.99%

3 N
BO/Og 180 4 3% g S0, ~°?o=’/° g] fo0= X A. 2044

g B. 2022
A= 5% +305 — 500 _C- 2065
) D. 2020
= E. 2085

https://t.me/mathbytarunsirmepl



D SBICLERK 20230

Question 9- What approximate value will come 1n place of

question mark.

T4 9- T 1@ o T T SFALHTA A T AT

SRS N
A= b={(Qt)(q-) o 141167 — 138997 4 2401=T

2
e N\
= S60+Q40 | fi:
= \_@ C. 2851
- D. 2771
E. 3361
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Question 10- What approximate value will come in place of

question mark.

Y500 T4 10- T To% o AT YT ITTATIT W T ST
25.01% of 500.09 + 40.02% of 800 = ? @ of 450
500.09 T 25.01% + 800 <hT 40.02% = ? + 450 hT 19.88%

A= 3% B. 475
— C. 455
D. 655

E. 420
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Question 11- What approximate value will come in place of

question mark.
T 11-99 5 ShFQJJ%ZL{ STTHTIA AT T ST
8.96 X (4864 ~ 19) — 367.89 = 74

X*= 3X£@5€j~ O RIRE MLI
l:a?j 04 -3¢ — A. 42
X= |93¢ o
Iz 93¢ D. 64
E. 74
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Question 12- The total income of P and Q 1s Rs 60,000. They invested 60%
and 80% of there respective income such that investment of P 1s Rs 1000

more than the invested of Q. Find the ratio of there profit at the end of year.
T 12- P 3T Q ! el 3T 60,000 FTH €| I8 10T 71 T 60% I 80%

59 YenTL 93T foram for P or1 9aisr Q o a1 & 1000 ®9 Afees g1 a9 o Aq |
AT ST STUT T sl

A. 11:20
B. 23:20
C— 21:20
D. 13:20
E. None of these
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(D X1y~ 60000—+1) 2= 245000
X = 49000
6¢//j1 ) @‘7{/’2’/5‘: e d= 6oom-3500¢
6)“@3: [000c, &,/ ‘;)5000

(Dxy _,\(-”-) Hei j[/?%@ﬁ\\ 6@7'3156%»(\ | &C}‘/-%{Q&éesm
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Question 13- 40 men working 8 hours daily can complete a work 1n 12 days.

How many person are required to do the same work in 16 days working 12

hours daily.
T 13- 40 T&9 Tidic 8 Eid 3T shieh Teh i ohl 12 TaT H T X Fehd &) Tieliad
12 5 T 3 §Y 16 AT H 3T Sl sh fohc SATchaT 3hl St shl STRdehd] 87

/Lfe&[;(%_ MX%(%;Z A. 30
|

/\ —Bs 20

C. 40

M=% D. 13
I E. None of these
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The table given below shows the sum and difference of passed students and

failed students in different years.

v v e feer it ot i e st i e s
T 2 YEAR PASS + FAIL PASS -FAIL
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Question 14- If 10% of passed students and 20% of failed students in year

2001 left the study then find ratio of them.
T 14- I I 2001 F ITAT0T ST H H 10% I I ST H H 20% o STTAT

BI o Tl 3eRT IHUTA 1 1T

65:31 _——
/
65:23

65:33
. 65:16

[ E—None of these

o 0w

YEAR

PASS +
FAIL
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Question 15- Find the average number of failed students in year 2001, 2002
and 2003.

T 15- 99 2001, 2002 371 2003 H ST BT ol S HE&AT J1d shifSY

\)\0 .y W YEAR PASS + PASS -FAIL
FAIL
A. 106.66
B. 406.66
C. 306.66
D. 506.66
E. None of these
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Question 16- In 2005 1t 1s expected that number of passed and failed students

increased by 20% and 40% respectively. Then find difference between them.
T 16- I8 2005 H I JATRT hT STt & fob IANUT SR ST ST hl &I H AT

20% SR 40% 3T I T3 2l TR 37k offr 3w J1a hifey

YEAR { PASS + PASS -FAIL
FAIL
A. 12
_—B—15
C. 25
D. 20
E. None of these

sl 2005
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Question 17- Number of passed students in 2004 is what percent of total
students 1n 2004.
T4 17- 2004 H 0T ST Al TE@AT 2004 H e BT AT feha1 AT &2

\_&O\\{M Kﬁm YEAR PASS + PASS -FAIL
A. 33.33% e
B. 22.22%
C. 66.66%
D. 20.66%
E. None of these

https://t.me/mathbytarunsirmep
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